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ENGLISH VERSION

1 Explain the term "Management Accounting”. Discuss the 14
scope and limitations of Management Accounting.
OR
1 Wirite a discraptive note on Management Accountant. 14
2 Explain advantages and limitations of responsibility 14
accounting.
OR
2 Write a detailed note on cost centres. 14
3 Varun corporation can produced 4000 units of a certain 14

product at 100% capacity. The following information is obtained
from books of account :

Production Jan. 2014 March 2014
2800 wunits 3600 units

Rs. Rs.

Repairs and maintenance 5,000 5,600
Power 18,000 20,000
Shop labour 7,000 9,000
Consumable stores 14,000 18,000
Salaries 10,000 10,000
Inspection 2,000 2,400
Depreciation 14,000 14,000

The rate of production per hour is 10 units. Direct material
cost per unit is Rs. 10 and direct wages per hour is Rs. 40.

You are required to compute the cost of production at
100%, 80% and 60% capacity under the flexible budget. Show
your working note.

OR
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Prepare a discreptive note oun zero based budgeting.

The following is the information of a bussiness unit :

Year Sales l Profit
2013 1,00,000 10,000
2014 1,20,000 14,000

From the above mentioned information calculate :
(1) PV ratio

(2) Profit where sales Rs. 90,000 and Rs. 40,000
(3) Sales to earn profit of Rs. 20,000.

(4) Fixed expenses |

(5) BEP

(6) MOS (Margine of Safety) for both the year.

OR

Write a detailed note on break even analysis.

Explain the defination and classification of quality cost.

OR

Explain product life cycle.
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